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Lecture 1: Introduction
Slide 31, ‘Organisation: Exam’
Overall, we have seven exercise sheets, number 0 to 6, so the slide has to read:

e 20 regular admission points on exercise sheets 1-5, and
10 regular admission points on sheets 0 and 7

— 120 regular admission points for 100%.

Lecture 7: Decision Tables

Slide 12, ‘Another Example’

The second bullet point below the ‘cash a cheque’ table should read:

database says: credit limit exceeded by more than 500 € but payment history ok,



Lecture 10: Requirements Engineering Wrap-Up
Slide 6, ‘Pre-Charts’

The third row in each condition for ‘am = initial’ of the table should read

and for ‘am = invariant’ it should read

that is we consider the sequence consisting of the first (or k4 1-th) to m-th letter in word w.
(w/1 would be the suffix of w starting with the letter with index 1.)

Lecture 12: Structural Software Modelling

Slide 27, Anonymous Objects

The formula in the equation environment should read:

{le = {p—=0,n—{c}}},c—={p—=0,n—0},d— {p— {c},x— 23}}

Lecture 13: Behavioural Software Modelling

Slide 9, Operational Semantics of CFA
It is CFA (not FCA).
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